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N 

ES-334: EDUCATION AND SOCIETY 

Time : 3 hours 	 Maximum Weightage : 70% 

Note : (i) All the four questions are compulsory. 
(ii) All the questions carry equal weightage. 

1. Answer the following question in about 
600 words : 
How are the aims of education determined ? 
Distinguish between individual and social aims 
of education. 

OR 
Define the concept of school from the perspective 
of 'Naturalism' and discuss the role of the teacher 
in transaction of curriculum as advocated by the 
school of Naturalism. 

2. Answer the following question in about 
600 words : 

Discuss the main aspects of social structure of 
Indian Society ? Does it affect the Education 
system ? Justify your answer. 

OR 
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Discuss various programmes for improving the 

Quality of Pre-service and In-service Training for 

Primary School Teachers. 

	

3. 	Write short notes on any four of the following in 

about 150 words each : 

(a) Social functions of education. 

(b) Need of self sufficiency for any society. 

(c) Impact of dialect and medium of instruction 

on academic performance of students. 

(d) Education for all 

(e) National Policy on Education 1968 and 

Quality of Education. 

(f) Pluralism in the context of Indian Education 

system. 

(g) Recommendations of Yashpal Committee 

regarding examination system. 

	

4. 	Answer the following question in about 

600 words : 

While teaching in a school, you might have come 

across various problems of students. While trying 

to solve their problems did you realise the 

importance of meeting parents? Elaborate your 

experiences concerning meetings with parents 

and solving problems of students, with suitable 

illustrations. 
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